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3 304 ] 122 8% 0= S| - B30 TV4M(0- AT 1411 - 4TR' 18- 0" | 60| 20| 57.160 | 1.378| 143.347| 16'-10" | 6 | 16 6" | 3| 12| 2.194| 137.876 | 2.163 | 99.132 | A
3 404 | 12 2= 8% 0= Y| 1= 5% 0 1Ym0 AYy 1411 TR - 4Tkl 18- 0" | 60| 30| 60.690 | 1.501| 153.787| 16-10" | 6 | 16 6" | 3| 15| 2.305| 148.230 | 2.256 | 99.132|C
4 304 ] 120 3-8 0= T 1 8l 010V [0 634 19- 0" | I-10" | 20'- 5" | 76| 20| 70.520 | 1.837| 172.739| 20'-10" | 6 | 20- 6" | 3| 12| 2.525| 161.908| 2.507 | 123.164 |B
4 404 | 12" [ 3= 4T 0= 7| - 8t 0105 [0 T 1 19- 0n | 1= 93| 20 6" | T6| 30| 74.050 | 1.989| 183.513| 20'-10" | 6 | 20- 6" | 3| 15| 2.626| 172.262 | 2.590 | 123.164|D
4 504 ] 12" [3- 5" 0= T - 8" 010" [0 634 19- 0" | I'-10" | 20'- 5" | 16| 40| 77.580 | 2.082| 193.619| 20'-10" | 6 | 20- 6" | 3| 18| 2.747| 182.616 | 2.693 | 123.164 |F
4 6 | 4 | 123 4l 0= 7| - 80105 [0 T 1 19- 0" | 1= 93| 20 6" | T6| SO| 81110 | 2.233| 219.311| 20'-10" | 6 | 20- 6" | 3| 21| 2.B49| 192.970 | 2.775 | 123.164 |H
5 304 ] 10 A= 1 o= 9 r-nt - 1Yo 9t 23 0" | 2= 3 | 24-10" | 92| 20| 83.880 | 2.429| 223.863| 24'-10" | 6 | 24'- &" | 3| 12| 2.774| 185.940 | 2.770 | 147.196 | B
5 414 9 | 4= 1ot o= 93 - - o 9t |23 0 | 2 30 | 2410 | 92| 30| BT.410 | 2.550| 249.088| 24'-10" | 6 | 24'- 6" | 3| 15| 2.886| 196.294 | 2.863 | 147.196 |D
5 514 9|4 1o 0= ¥ - e 1Yo 9t |23 0" | 2 3" | 2410 | 92| 40| 90.940 | 2.673| 259.973| 24'-10" | 6 | 24'- 6" | 3| 18| 2.997| 206.648 | 2.955 | 147.196 |F
5 6| 4 | 10" [4- 1Y 0= 9% - |- 1|0 9t [ 23- 0" |2~ 3 | 24-10" | 92| 50| 94.470 | 2.796| 266.801| 24'-10" | 6 | 24'- 6" | 3| 21| 3.108| 217.002| 3.048 | 147.196 |H
5 T4 | 1o [a- 1% o= 9% r-nr |- 1Yo 9 23 0" 2= 3 | 24-10" | 92| 60| 98.000| 2.917| 288.732| 24-10" | 6 | 24'- 6" | 3| 24| 3.220| 227.356 | 3.141 | 147.196 | J
6 414 9' | 4= 97| 1= Vi (2 Yt e ad o= n i 2T o | 2 T 29 4" [ 108 ] 30(100.770 | 3.294| 314.289| 28'-10" | 6 | 28- 6" | 3| 15| 3.082| 220.326 | 3.072 | 171.228 |E
6 514 9u | 4= 97 1= V(2 Y e aY o= n i 27 0| 2 T 29'- 4" [ 10B ] 40| 104.300 | 3.417| 325.539| 28'-10" | 6 | 28'- 6" | 3| 18| 3.193|230.680| 3.165 | 171.228 |G
6 6|4 9| 4= 97 1= V[ 1 - AT o 27 o | 2 T, 29'- 4" [108] 500 107.830 | 3.539| 339.689| 28'-10" | 6 | 28'- 6" | 3| 21| 3.305|241.034| 3.258 | I71.228 |
6 114 9" 4= 9¥r| 1= Vet 2 1 - sl oI 2T 0 | 2 TR 29'- 5 [ 108 | 60| 111,360 | 3.703| 369.574| 28'-10" | 6 | 28'- 6" | 3| 24| 3.400|251.388 | 3.334 | 171.228 |K
6 g4 9| 410" | 1= 0n {2 1R - Ao 2T 0| 2 8 | 29'- 4" [10B| TO|114.890 | 3.740| 394.496| 28'-10" | 6 | 28'- 6" | 3| 27| 3.544| 261.742 | 3.460 | 171.228 |M
7 404 ' 5 63| 1= 2520 3%t - 8 1= 13 30 Vg | 3 S| 33-10" [ 124 30| 114130 | 4.110| 417.866] 32'-10" | 6 | 32'- 6" | 3| 15| 3.217|244.358 | 3.221 | 195.260 |E
7 6|4 ' 5 6L 1= 2l 2 At - TR (1= IV 3 Vgt | 3 Tt | 33-10" [ 124 ] 50| 121,190 | 4.307| 443.857| 32'-10" | 6 | 32'- 6" | 3| 21| 3.459| 265.066| 3.426 | 195.260 ||
7 8|5 9| 5= 6| 1= 2% 2= A 1= THy - 1R 30 et | 3 Tt | 33- 9" | 124 | 70|128.250 | 4.549| 504.336| 32-10" | 6 | 32-- 6" 3| 27| 3.682| 285.774 | 3.611 | 195.260 | M
71 10|5 9' | 50 8l 1= 2% 2'- 3% - 8l (1= 13| 300 3% 3 % | 34 2" [124] 90|135.310 | 4.980| 566.414| 32'-10" | 6 | 32'- 6" | 3| 33| 3.746| 306.482 | 3.637 | 195.260 | Q
8 415 9" 6= 2%"| I'- 5|2 V" 111" (1= 4l 3411 Tk"| 3= 5% 38'- 4" | 140| 30|127.490 | 5.093| 509.040| 36'-10" |6 | 36'- 6" | 3| 15| 3.275|268.390 | 3.292 | 219.292 |E
8 65 9" 6= 2% I'- 5" 2 el | - 11%" (1= 4l 3411 TR 3 5% 38'- 4" [140| 50|134.550 | 5.338| 536.459| 36'-10" | 6 | 36'- 6" | 3| 21| 3.498| 289.098 | 3.477 | 219.292 ||
8 815 9 6= 2% 1= AT 2 &3 -1 (- 4 3411 TR 3 5% 38'- 3" [140| T0[141.610 | 5.526| 597.240| 36'-10" | 6 | 36'- 6" | 3| 27| 3.743| 309.806| 3.685 | 219.292 |M
8] 105 9' ] 6= 45" 1= AT 2 &3 -1 (1= 4r | 350 33| 3'- 5% 38'- 7" [ 140| 90|148.670 | 5.913| 658.924| 36'-10" | 6 | 36'- 8" | 3| 33| 3.822|330.514| 3.726 [ 219.292 | Q
9 4916 9 | 6=l |- TV 2 8o 2 3Vt |- e 39 0" | 310" | 42'-10" | 156 | 30|140.850 | 6.195| 661.634] 40'-10" | 6 | 40- &' | 3| 15| 3.289|292.422 | 3.319 | 243.324 |F
9 6|6 9 | 6=t |- T2 8o 2 3Vt - 6| 39 0" | 310" | 42'-10" | 156 | 50|147.910 | 6.440| 691.354| 40'-10" | 6 | 40- €' | 3| 21| 3.512|313.130 | 3.505 | 243.324 | J
9 8|6 9| 6=V 1= 7o 20 BYy 2 2Tk 1= 84" 39 0" | 310V, 42'- 9" |I56| T0|154.970 | 6.621| 749.436| 40'-10" | 6 | 40'- &' | 3| 27| 3.760| 333.838 | 3.716 | 243.324 N
9] 10 |6 9| T TRt | - T 2 Yy 2 2Tk 1= 65| 39 3| 310V, 43'- 1" | 156 ] 90|162.030 | 7.012| 81B.377| 40-10" | 6 | 40'- €' | 3| 33| 3.835|354.546 | 3.752 | 243.324 |R
9] 12 |6 9| 7= 2y - T2 9 (2 2t - B 39 6t | 310" 43'- 2" 156 | 110]169.090 | 7.334| 915.311] 40-10" | 6 | 40- €' 3| 39| 3.941| 375.254 | 3.820 | 243.324 |V
10 416 9| 7= T3 1= 9¥ 21Vt 2 6 [1- B 43 0" | 4= 3V 4T 2" | 172] 30|154.210 | 7.2B8| 785.584| 44'-10" | 6 | 44'- 6" | 3| 15| 3.280| 316.454 | 3.324 | 267.356 |F
10 6|6 9| 7= T - 9t 21t 2 ST 1= 8 43 0r | 4= 3V 4T 2" | 172 | 50|161.270 | T.470| 758.170| 44'-10" | 6 | 44'- 6" | 3| 21| 3.532|337.162 | 3.538 | 267.356 | J
10 8|6 9| 7= T - 9t 21l 2 ST - 8l 43 0r | 4= 3V 4T- 2" | 172 | T0|168.330 | 7.713| 815.966| 44'-10" | 6 | 44'- 6" | 3| 27| 3.754| 357.870 | 3.723 | 267.356 |N
10| 10|86 9| 7= 9l 1= 9ot 211V, 20 5T 1= Bl 43 30| 4= 3V 4T- 6" | 172] 90| 175.390 | B.108| 878.209| 44'-10" | 6 | 44'- 6" | 3| 33| 3.826|378.578 | 3.756 | 267.356 |R
0| 12|86 9| 7103 1= 9o [ 21Vt 2 sV 1= 8l 43 6t | 4= 3V, 4T- 8" | 172 110 182.450 | 8.495| 957.286| 44'-10" | 6 | 44'- 6" | 3| 39| 3.903| 399.286 | 3.796 | 267.356 |V
12 6|7 9" 9 St | 2= 2% |3 4o 3 (2= IV 51 0 | 5 1Yy 56'- 2" |204] 50|187.990 |10.170 |1,122.541] 52'-10" | 6 | 52'- 6" | 3| 21| 3.286|385.226 | 3.319 | 315.420 |K
12 g |7 9| 9= St | 2= 2% |3 4o 3 e (2= 1V 51 0 | 5 1Yy 56'- 2" [204] 70(195.050 | 10.412 |1,185.877| 52'-10" | 6 | 52'- 6" | 3| 27| 3.509| 405.934 | 3.504 | 315.420 | 0
2] 107 9" | 9'- 23" 2= 23| 3 4, 3 (2= 1| 51 35" 5 1Yy 56~ 5" | 204] 90(202.110 |10.814(1,266.080] 52'-10" | 6 | 52'- 6" | 3| 33| 3.572|426.642 | 3.529 | 315.420 | S
1 1216 8" 9= 3¥ 2= 25" 3 4l 3 Yy (2= 1V 51 8% 5 T | 56'- 9" [204] 110]209.170 |11.312{1,367.579] 52'-10" | 6 | 52'- 6" | 3| 39| 3.582|447.350 | 3.500 | 315.420 |W
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